TotalMarks:.... Class:10th Time:

Test:Physics

Attempt ......... questions

' In SHM, velocity at Extreme Position is: Ztagnu" u,/?ﬁjgéwuﬁu%{nydz’ L
(a) Maximum (b) Minimum (c) Zero @ obicsl )  fef
(d) Some time maxium some time minimum (c) & @ ﬁ/ f':)gju‘{

2 If length of simple pendulum on Earth is 1 in Elosk f'ljl LU 15 21 lf,;f&u‘j?; ,‘L;J:.’/l
then its time peiord is. T T
() V2 ® 5 (a) V2 b)

T
(c) 2T (d) T (c) 2T @ =
2 2

3 If speed of sound is 320ms-1, the distance 02/ §ESLUE T 5539320 ms LU kS L«Vg/'
covered in a time of 1.5s will be; G lols
(a) 408m  (b) 480cm (a) 408m (b) 480cm
(c) 480m  (d) 221m () 480m (d) 221m

* The speed of sound at room temperature is: Ay V4 fr gZ
@  320ms’ () 330ms” (@  320ms? (®)  330ms?
(©)  340ms’ (d  350ms’ ©) 340ms™! d  350ms’

5 &

6 The human eye has: _ébwguﬁf@u;
(a) Convex mirror (b) {concave lense (@) // J"C S (b) 4 5?(
(c) Convexlense _{d) convex lense (© AJE’( CY /"{5((

7 Three capacitors of£3PE;4PF, 5PF are connected ot z e I /, JJlﬁ "/:65 '~ SPF.l 4 PE. 3PF

in parallel combination, with battery of 6v. P ,
Calculate aquivalent capacitance. _Jmff ()"3'(55 L/€;6Vé‘u d/ dﬁ,,ﬁ.
(a) 06 PF  (b) 12 PF () 06 PF (b) 12 PF
(c) 14PF (d) 17 PF (©) 14 PF (d) 17 PF

° How many factors are which affect the ability of /4 17 Ly e J L/'/"i iy K’{" i J e ! &
a capacitor to store charge? Ut s
(a) 2 (d 3 (a) 2 (b) 3
(c) 4 @ 5 (c) 4 (d) 5

% Electrical potential and e.m.f. _e.m.fJﬂJ%‘éJ}g /9
(a) are the same terms (b) are the different terms (a) o A,@fu'&g b o M il¥
(c) have different uits (d) both B & C () Jt ._,d:’u'b' ;j £ (d) CsBUsM

19 One micro amphere is equal to: -l /24’)/? L..g 10
(a) 103A (b) 107%A (a) 103A (b) 107%A
(©) 10°A (d) 10712a (c) 10°A (d) 10712A
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